A A A A A A A A A A A A A A A dr e A

Sudoku: Each row, column and box has 1to 9 Fl" in thE bDKES b‘f flndlng thE patterns. Draw different stick men with two
5 8 6 1 arms and two legs. How many
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different ways can you do where
the arms and legs are different
sized angles (including greater
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than and less than a right angle)?
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Sort the Socks!

For each drawing write how many
greater and/or less than angles
there are e.g.

2 angles less than a right angle

2 angles greater than a right angle

Start with three pairs of socks.
Now mix them up so that no
mismatched pair is the same

as another mismatched pair. )+ o )} = 22 put each of Even numbers Muliples of 5
the numbers
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Now try it with four pairs of é +

X X 3 X 2 X X 2 X X 2 X 20 X X 2

— 14 numbers fall
into both
socks. Is there more than one : groups?
way to do it? * 2‘ = 7

Puzzle ID: 35985 sSolvem=.com
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